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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2018 

 

Subject Name: Electronics Devices 
 

Subject Code: 2TE03EDC1                              Branch: Diploma (EC)  

   

Semester: 3                 Date: 22/03/2018               Time: 02:30 To 05:30         Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

  
Q-1  Attempt the following questions: (14)  

 a)  Class of amplifier identified by the position of ………. 

A)  operating point B)  beta C)  supply D)  all of above 
 

 b)  ………………biasing has highest stability. 

A) Fixed bias.  B)  Emitter bias.    C)  Potential divider   D)  Collector to base  
 

 c)  …………..is current controlled device  

A)  BJT B) FET C)  both A and B D)  none of above 
 

 d)  For power transistor size of transistor is……….. 

A)  thin B)  thick C)  both A and B D)  none of above 
 

 e)  Operating point may vary due to change in ……….. 

A)  temperature B)  β C)  A and B both D)   none of above 
 

 f)  Cross over distortion is present in ……….amplifier. 

A)  voltage  B)  power  C)  both A and B D)  none of above 
 

 g)  Frequency response of …………coupling is a flat line. 

A)  RC            B) LC              C) transformer           D)  direct 
 

 h)  Which transistor configuration provide 180˚ phase shift in output 

A)  CC         B) CE             C)  CB                      D)  none of above 
 

 i)  An Electron has ……….. charge  

A)   Negative B) Zero C)   Positive D)  none of above 
 

 j)  AC load line is ………..steeper than DC load line. 

A)   more  B)  less C)  A and B both D)  A or B 
 

 k)  If Operating Point is in Middle of Load Line Then amplifier is treated as a 

A)  Class C B) Class B   C) Class A       D) Class D 
 

 l)  ………..is a notation of current gain. 

A)  Av             B)  Ap             C)  Ac                  D)  none of above 
 

 m)  Conducting Channel is present in ………… 

A)  BJT B) FET  C)  MOSFET D)  none of above 
 

 n)  Transistor has …..Junction. 

A)  2             B)  3             C)  1            D) 4 
 



 

Page 2 || 4 

 

 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) Draw and explain the input and output characteristics of common emitter 

configuration. 
 

 (b) Draw and explain the Darlington pair amplifier configuration in detail.  

    

Q-3  Attempt all questions (14) 

 (a) Explain with a neat diagram the working of a Crystal oscillator.  

 (b) Explain the operation of Class C power amplifier with a neat circuit diagram.  

    

Q-4  Attempt all questions (14) 

 (a) What is voltage divider bias? What is its disadvantage? How it is removed with 

emitter bias? 
 

 (b) What is multistage amplifier? Explain in detail with neat diagram two stages RC 

coupled amplifier. 
 

    

Q-5  Attempt all questions (14) 

 (a) Explain with the help of circuit diagram working of Hartley Oscillator.  

 (b) Draw the circuit of RC phase shift oscillator and derive an expression for its 

frequency of oscillation. 
 

    

Q-6  Attempt all questions (14) 

 (a) Define positive and negative feedback. Also derive the expression of transfer gain 

with negative feedback with the use of block diagram. 
 

 (b) Draw a diagram of an emitter follower and describe its working and advantages.  

    

Q-7  Attempt all questions (14) 

 (a) Explain with a neat diagram the working of a Class B push pull amplifier.  

 (b) Draw the circuit of Wien bridge oscillator and derive the expression for its 

frequency of oscillation. 
 

    

Q-8  Attempt all questions (14) 

 (a) Explain the input and transfer curve foe JFET using Sockley’s equation  

 (b) Explain the enhancement type MOSFET with channel creation.  

    
 

 

 

 

 

Q-1 

  

Attempt the following questions: 

 

(14)  



 

Page 3 || 4 

 

 a)  એમ્પ્રીપામયનો લગગ ......... ની સ્થિતિ દ્વાયા ઓ઱ખામ છે. 
એ) ઓ઩યેટ િંગ બફિંદુ         ફી) ફી ા          સી) ઩યુલઠો        ડી) ઉ઩યના િભાભ 

 

 b)  .................. ફામસોંગ સૌિી લધ ુસ્થિય છે. 
એ) સ્થિય ફામસ       ફી) એતભ ય ફામસ        સી) સબંતલિ તલબાજક      
ડી) કરેક ય ભા ે આધાય 

 

 c)  ............ .. કયન્  તનમતંિિ ઉ઩કયણ છે. 
એ) BJT         ફી) એપઇ ી        સી) ફનંે એ અને ફી     ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 d)  ઩ાલય ટ્રાન્ન્ઝથ ય ભા ટ્રાન્ન્ઝથ યનુ ંભા઩ ......... .. છે. 
એ) ઩ાિ઱ા      ફી) જાડા        સી) ફને્ન એ અને ફી      ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 e)  ......... ભા ંપેયપાયને કાયણ ેસચંારન બફિંદુ ફદરાઈ ળકે છે. 
એ) િા઩ભાન         ફી) β        સી) એ અને ફી ફનંે      ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 f)  ક્રોસ ઓલય તલકૃતિ.......... એમ્પ્રીપામયભા ંહાજય છે. 
એ) લોલ્ ેજ          ફી) ઩ાલય      સી) ફનંે એ અને ફી  ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 g)  ............ નુ ંઆલિગન પ્રતિટક્રમા સ઩ા  યેખા છે. 
એ) આયસી          ફી) એરસી       સી) ટ્રાન્સપોભગય       ડી) સીધી 

 

 h)  કમા ટ્રાન્ન્ઝથ ય કન્ન્પગયેળન આઉ ઩ ુભા ં180˚ પેઝ ઩યૂી ઩ાડે છે. 
એ) સીસી            ફી) સીઇ            સી) સીફી                 ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 i)  એક ઇરેક્ટ્ટ્રોન નો ચાર્જ .......... હોમ છે. 

એ) નકાયાત્ભક        ફી) ઝીયો          સી) હકાયાત્ભક     ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 j)  એસી રોડ રાઇન, ડીસી રોડ રાઇન કયિા ં........... થ ે઩ય છે. 
એ) લધ ુ        ફી) ઓછી         સી) એ અને ફી ફનંે        ડી) એ અિલા ફી 

 

 k)  જો ઓ઩યેટ િંગ ઩ોઇન્  રોડ રાઇનભા ંભધ્મભા ંહોમ િો એમ્પ્રીપામયને એક િયીકે 
ગણલાભા ં...........આલે છે 

એ) લગગ સી        ફી) લગગ ફી          સી) લગગ એ       ડી) લગગ ડી 

 

 l)  ........... કયન્  ગેઇન નો સકેંિ છે. 

એ)  Av             ફી)  Ap             સી)  Ac      ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 m)  સચંારન ચેનર ………… ભા ંહાજય છે 

એ) BJT          ફી) એપઇ ી       સી) MOSFET        ડી) ઉ઩યના કોઈ઩ણ નિી 

 

 n)  ટ્રાન્ન્ઝથ ય ઩ાસે ... .. જકંળન છે.   
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એ) 2        ફી) 3       સી) 1      ડી 4) 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (a) સાભાન્મ એતભ ય રૂ઩યેખાકંનની ઇન઩ ુ અને આઉ ઩ ુ રાક્ષબણકિાઓ દોયો અને 
સભજાલો. 

 

 (b) તલગિલાય ડાબરિંગ્ ન જોડ એમ્પ્રીપામય રૂ઩યેખાકંન દોયો અને સભજાલો.  

    

Q-3  Attempt all questions (14) 

 (a) ટક્રથ ર ઑતસરે યનુ ંકાભ સઘુડ યેખાકૃતિ સાિે સભજાલો.  

 (b) સઘુડ સટકિ  ડામગ્રાભ સાિે ક્ટ્રાસ સી ઩ાલય એમ્પ્રીપામયના કામગને સભજાલો.  

    

Q-4  Attempt all questions (14) 

 (a) લોલ્ ેજ ટડલાઈડય ફામતસન્ગ શું છે? િેના ગેયરાબ શુ ં છે? િે કેલી યીિ ેએતભ ય 
ફામસ િી દૂય કયલાભા ંઆલે છે? 

 

 (b) ભલ્ ીથ ેજ એમ્પ્રીપામય શુ ંછે? સઘુડ યેખાકૃતિ સાિેના ફે િફક્કાભા ંઆયસી ક઩લ્ડ 
એમ્પ્રીપામયનુ ંલણગન કયો. 

 

    

Q-5  Attempt all questions (14) 

 (a) હા ગરી ઓસ્થસરે ય સટકિ  ડામાગ્રાભની સહામિી સભજાલો.   

 (b) આયસી પેઝ તળફ્  ઓસીરે યના સટકિ ને દોયો અન ેિેની આલિગન આલિગનો ભા ે 
અબબવ્મસ્ક્ટ્િ ભે઱લો. 

 

    

Q-6  Attempt all questions (14) 

 (a) ઩ોતસટ લ અને નેગ ીલ પીડ્ફેક વ્માખ્માતમિ કયો. બ્રોક ડામાગ્રાભના ઉ઩મોગિી 
નેગ ીલ પીડ્ફેક સાિે ટ્રાન્સપય ગેઇન્સની અબબવ્મસ્ક્ટ્િ ઩ણ ભે઱લો. 

 

 (b) એતભ ય પોરોઅયની  યેખાકૃતિ દોયો અને િેનુ ંકામગ અને રાબો લણગલો.  

    

Q-7  Attempt all questions (14) 

 (a) ક્ટ્રાસ ફી ઩ળુ ઩રુ એમ્પ્રીપામયનુ ંકાભ સઘુડ યેખાકૃતિ સાિ ેસભજાલો.   

 (b) તલન બિજ ઑતસરે યનુ ં સટકિ  દોયો અને ઑક્ટ્સીરેળનની િેની આલિગન ભા ેનુ ં
સભીકયણ ભે઱લો. 
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Q-8  Attempt all questions (14) 

 (a) સૉકરીના સભીકયણનો ઉ઩મોગ કયીને જેએપઈ ીનો ઇન઩ ુ  અને ટ્રાન્સપય કલગ 
સભજાલો. 

 

 (b) ચેનર ફનાલ  સાિે એન્હાન્સભેન્ -ભોડ ભોસપે  સભજાલો.  

    
 


